Simulazione di verifica

Periodo 1 - UdA 7-8

Risolvere le seguenti espressioni

L.
2.

3.

202 +2 (27 — 2% + 22 — 3) — 3z (2* + 1) +6

(4 (-1

(x+2)(2x—3)+2x3—(x2—x—2) (2x +3) — 9z
(%CEQ—I-%CE—I—%) (22 — 2)

—% (%:132—%:13— 1) +%x (—%aj— 1)
(222 — 4z + 1) (2* + 20+ 3) — 5+ 2 (z + 10)
%xQ— (2x2—x+%) (lx+%)+az3

(332—‘1—%513—%) (2x—1)+(%x—%)

202 — 31+ 1) (23:2 + 3(1:) — 42 (xQ — 1)

/N



Risolvere le seguenti equazioni

10.  —x (%x—%)+(m+1) (%x—l) :—% (2% + 3)

1. — (xz —2r+3) (22 +1) = -2z (v* +2) + 32
12, i ( 21 +2x+1)+3x3 E(x?+1)

13 (% ) 2 _dz) =384

14. (m+%)( —%)+x2:3(:1:+1)

15, (2?2 —z+1)(22%+1) —z (227 = 1) =322 (z + 1) = — (527 — 1)

16, 2x4+1)dx—3)—(z+1)bx—4)+7=(x+1)(bx —3)—2x+ 1) (z — 3)
17 (2o +1) (2 =22 -3)=2?(2x —3) + 1

18, (2z—-3)Bz+1)+x=(r+1)(6x+5) —x



SOLUZIONI
Simulazione di verifica  Periodo 1 - UdA 7-8

1] —1% + 2 2] 2 =

3| ¢ — 4| 79— 1

5 202 6 22t—2

7 = 8| 228 -2

9] —3z* + 3z
10| r =0 11| Impossibile
12| x =3 13 T =—z
14| T =—z 15 Indeterminata
16] r =73 17] T =—1
e




